A - Cabezal
B - Vastago
C-Sellos
D - O'Ring
E - Buje

F - Piston
G-Iman

H - Tornillo regulador de

amortiguacién neumatica

| - Tubo

DESPIECE

CARRERA
Diam. 10 25 40 50 80 100 125 160 200 250 300 320 400 500
8 X O X O X O X O o) 0 0 o) o)
10 X O X O X O X O o) 0 0 o) o)
12 X O X O X O X O o] 0 0 o) o) 0 o)
16 X O X O X O X O o) 0 0 o) o) 0 0 o) 0
20 X O X O X O X O o) 0 0 0 o) 0 o)
25 X O X O X O X O o) 0 0 o) o) 0 0 o) 0
X DESVCASI - DESVCACI - DESVSASI - DESVSACI
O SESVSACI - SESVSASI
DEDVCASI - DEDVCACI - DEDVSASI - DEDVSACI (carreras especiales)
DIMENSIONES
SIMPLE VASTAGO
- ZJ+ N
L1 y ZG+ N
N AM L. ) B N L2 L
2-EE
v / — y
v © Y
I @ _ //?\ _
) (=)
= x,r \ e AN =
6 [
/ ‘ \
_[Kw
N WH B ZA+ N
- ZH+ N
‘a
/
| @
] a) }ﬁ
|
L
. -
DOBLE VASTAGO
y ZK++ ‘
B ZQ++
=
=
| 0 y
— )
\< | /) | [ ]
Didam. AM B CD D DT EE EW K KV KW L L1 L2 L3 MM ZG+ ZH+ ZJ+ ZK++ ZQ++ L4 X
8 12 M12x125 4 15 93 M5 8 M4 19 6 6 22 12 10 5 34 64 78 78 62 16 4
10 12 M12x1,25 4 15 11,3 M5 8 M4 19 6 6 22 12 10 5 34 64 78 78 62 16 4
12 16  M16x1,25 6 200 133 M5 12 M6 24 8 9 28 17 15 6 38 75 89 94 72 22 4
16 16 M16x125 6 20 173 M5 12 M6 24 8 9 28 17 15 6 44 82 95 100 78 22 4
20 20 M22x125 8 27 213 G1/8 16 M8 32 11 12 32 20 18 8 516 95 112 116 92 24 5
25 22 M22x125 8 27 265 G1/8 16 M10x1,25 32 11 12 36 22 20 10 531 104 1195 1255 975 28 6
FUERZA TEORICA
Diametro (mm) 8 10 12 16 20 25
Diametro vastago 4 4 6 6 8 10
Area de piston (cm2) AT 0,5 08 1,1 2 31 4,9
A2 04 0,7 0,8 1,7 2,6 4,1
Presién - Al 0,5 0,8 1,1 2 3,1 49
(kgf / cm 2) A2 04 0,7 0,8 1.7 2,6 41
| AT 1 16 23 4 63 9,8
> D [ —
A1 A2 I| A2 038 13 1,7 35 53 8,2
Al 1,5 24 34 6 94 14,7
A2 1,1 2 2,5 5,2 7.9 124
Al 2 3,1 45 8 12,6 19,6
A2 1,5 2,6 34 6,9 10,6 16,5
Al 2,5 3,9 5.7 10 15,7 24,5
A2 1,9 3,3 42 8,6 13,2 20,6
Al 3 4,7 6,8 12,1 18,8 294
A2 2,3 4 5,1 104 15,8 24,7
Al 3,5 5,5 79 14,1 22 343
A2 2,6 46 5,9 12,1 18,5 28,8
Al 4 6,3 9 16,1 25,1 39,3
A2 3 53 6,8 13,8 21,1 33
Al 45 7,1 10,2 18,1 28,3 44,2
A2 34 5,9 7.6 15,5 23,7 37,1




